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OpenStax University Physics vol. 2 P6.70

A point charge ¢ = —8.0 X 1072 Cis placed at the centre of a spherical conducting
shell of inner radius 3.6 cm and outer radius 3.9 cm. The electric field just above the
surface of the conductor is directed radially outward and has magnitude 9.5 N/C.

Part 1

What is the charge density on the inner surface of the shell?

Oimner =  humber (rtol=0.03, atol=0) C/m?> @

Part 2

What is the charge density on the outer surface of the shell?

Oouter =  Number (rtol=0.03, atol=0) C/m?> @

Part 3

What is the net charge on the conductor?

Q = number (rtol=0.03, atol=0) C ©
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OpenStax University Physics vol. 2 P6.70

A point charge ¢ = —8.0 X 10712 Ciis placed at the centre of a spherical conducting
shell of inner radius 3.6 cm and outer radius 3.9 cm. The electric field just above the
surface of the conductor is directed radially outward and has magnitude 9.5 N/C.

Part 1
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What is the charge density on the inner surface of the shell?
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Oimner =  humber (rtol=0.03, atol=0) C/m?> @

Part 2

What is the charge density on the outer surface of the shell?

Oouter =  Number (rtol=0.03, atol=0) C/m?> @

Part 3

What is the net charge on the conductor?

@ = number (rtol=0.03, atol=0) C @
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